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> Z = X~-mux

> abline(lm(y~z))
> a = Im(y~z)

> summary(a)

Call:
Im(formula =y ~ z)

Residuals:
Min 1Q Median 3Q  Max
-0.20283 -0.14691 -0.02255 0.060655 0.44541

Coefficients:

Estimate Std. Error t value Pr(>|t])
(Intercept) 0.80538 0.05358 15.031 1.12¢-08 ***
z 0.96683 0.18292 5.286 0.000258 ***

Signif. codes: 0 "***'(0.001 **'0.01 *'0.05"'0.1"''1

Residual standard error: 0.1932 on 11 degrees of freedom
Multiple R-Squared: 0.7175, Adjusted R-squared: 0.6918
F-statistic: 27.94 on 1 and 11 DF, p-value: 0.0002581

> b = Im(y~x)
> summary(b)

Call:
Im(formula = y ~ Xx)

Residuals:
Min 1Q Median 3Q Max
-0.20283 -0.14691 -0.02255 0.06655 0.44541

Coefficients:

Estimate Std. Error t value Pr(>t|)
{Intercept) 0.36510 0.09904 3.686 0.003586 **
X 0.96683 0.18202 5.286 0.000258 ***

Signif. codes: 0 "*** (.001 ™+ 0.01 #'0.05'.'0.1"'"1

Residual standard error: 0.1932 on 11 degrees of freedom
Multiple R-Squared: 0.7175, Adjusted R-squared: 0.6918
F-statistic: 27.94 on 1 and 11 DF, p-value: 0.0002581
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Data Set 1

Call:
Im(formula = y1 ~ x1)

Residuals:
1 2 3 4 5 6
3.048 -5.638 2.676 -2.010 3.305-1.381

Coefficients:

Estimate Std. Error t value Pr(>|t[)
(Intercept) 13.6667 16.9572 0.806 0.465
x1 1.6857 0.9644 1.748 0.155

Residual standard error: 4.034 on 4 degrees of freedom
Multiple R-Squared: 0.433,  Adjusted R-squared: 0.2913
F-statistic: 3.055 on 1 and 4 DF, p-value: 0.1554

Data Set 2

Call:
Im(formula = y2 ~ x2)

Residuals:
1 2 3 4 5 6
-2.58033 2.70820 3.99672 -5.71475 1.57377 0.01639

Cocfficients:

Estimate Std. Error t value Pr(>|t[)
(Intercept) 7.8689 2.8760 2.736 0.0521.
x2 2.1423  0.1132 18.930 4.59¢-05 ***

Signif. codes: 0 "™***' 0.001 **' 0.01 *'0.05".'0.1"'"1

Residual standard error: 4.034 on 4 degrees of freedom
Multiple R-Squared: 0.989,  Adjusted R-squared: 0.9862
F-statistic: 358.4 on 1 and 4 DF, p-value: 4.587e-05

Data Set 3

Call:
Im(formula = y3 ~ x3)

Residuals:
1 2 3 4 5 6
-0.8295 1.5377 1.9049 -2.7279 -0.3607 0.4754




